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X,=8599Y,,~88,582,~92,64 B,
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X,=85,99.Y,~8858.2,~92.64 B,

%w=0,3218y,,=0,3315

A3= (a3~ agp) Y1g (Y/Y18)1g
B3 = (b3~ by Y15 (Y/Y19)™
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ay =1, byp=-0,4
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X,=85,99.Y,~8858.2,~92.64 B,

%w=0,3218y,,=0,3315

A5 = (a5 —a5.) Vg (VY1913
Bs = (05— bs,p) Y15 (Y/Y19)™

a5 = a0 [(x-0,17/y]
bs=ba [(Mp1x+bp1)/y]
ay =1, byp=-0,4
Mp1=-0,974b,=0,658

n = P60 -40

Os olours (0) Yy\=88,6
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X,=8599Y,,~88,582,~92,64 B,
%,=0,3218y,,=0,3315

Ag= (86~ 3g,1) Yag (VY19 M3

Bg = (B ~ bs) Y15 (/Y19 /3

g = ago [x/Y] i
be=ba [(Mp1x+bp1)/y]

ay =1, byp=-0,4
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